2 &5 LEhfAL,

o<t

0.75

il




> &= 0.001

0.

54914 0.054 2 A5 o] 1Z0 2 3td]
olFHOBF 0,001 FRFUH




i

Hu

)
o

—+9x%x6

® 2

ke

ul




wH7lek ol [ | gt gure 5 PO Q.

660 +4 =165 = 6.64+4=1.65

640+ 5 =128 > 64+5=] |

640 + 5 = 1289]|4 6.4 = 5=

Yol Ak 47} - Hvt Agenz

A L

6.4+5=1.28




it

iy

700

0
I

700

v VvV VvV v v V
0x
n

HE D 490000

1m = 100cm
mHhA] 7m X 7m = 700cm X 700cm
= 490000cm?




i)
o
ol
d
Y
il
To
Hu
v
Aul
=
N,
=2
N
o2l
e
p=A
rlo
po
rlo
2,
in
PO
o
i
N,

D

@ Hspr)e 74 @ & 3} 7hupy o] 2
® e 7 C@)Eajg] k=Bl
® #HARd 10 B2 74

i

1t 1000kg & Yeths S92, 2 27 95 vhehd of
2duyet.

webd RS @RYU,




7. 1755 7|9E42 e A2 12490

75 15 3 1
1— 1— 1- 2—
o 100 @ 20 @ 4 @ 4

175210 _ 43
100 4




= % 0328 77 A g2 25 o= AY

32 16
D o0 @ = ® @ —

~&B

32

16 32

5 ~ 100 032
8 32

2% ~ 100 032
64 32

200 ~ 100 ~ 032
8 40

20 100 04




® 0.45

@ 0.7

® 0.56

0 |[©

2
)

0.833---

AN O 10 |[©




10. WeAle shAL.




4 +9 e ALY

1

11. o

2
—5><4><l
9

®

— |

— <t




12. o3 F 2717 HE A& 12X Q.

D 3+4 @ 3x ® 30 =40
@g ® 0.75




13. o= FolA |elzt 7+

ol
ru
pos
flo
2
|r
vl
o
i
N
pv)

@® 0.02km? @ 0.2ha (3)2000a

@ 20000 m? ® 2ha

B

T e 92 1A A vlus) FYrh
@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha




SHA 2.

_ZF_

3.58

‘ (1.2% 0.4) + (24.8 = 8) = 0.48 + 3.1 = 3.58

.

ull




B2 IkAt 24827 Eo0] Qi AR BAI7E 6 kg GUTE W AR
o 5 ﬂ7+02kg o, 92} 1820 BALE oF E kgQlA] TS
(&, wredsto] 24 B4 Al 7hA] FohAR. o 1 0.666--- — oF

= kg

>
> He: Fo24kg

dAE W 2t 24820 FA 1 6-0.2 = 5.8(ke)
W2t 1 B0 A 58+24=0241---
= °F0.24 kg




16. 3%° TA%E 54t 0|2, Awlo]o] BRAL 30kg P FF 2
Sl Arlole] BRAe] @ w17 oA

= il

5.4t = 5400 kg
— 5400 + 30 = 180 (HH)




17. 7t2et AR 2] Aol7} 242 600m, 350m Q1 A &oF
Asytt o] &2 70a 4 Uiro] thE F7o 343 Ao

ok B H kA FRY FAL 4S5 A FokAL.
> = 7

> =D 30714

= 600 x 350 = 210000( m?) = 2100( a)
Z5)= 2100 + 70 = 30(7}A))




18. 19] A2l $47F s, 0.019] Aelo] 5471 7, 0,001 9] A2l e] 5247
591 448 7|OFRS R HEEA| L AL ol AU

3 7 1 9 3
Do @6 @6 @6 @5%

8+ 0.07+0.005 = 8.075
(0] 75+ 25 3

8075 = 87600 = ®Too0=25 ~ °20




D 26 + 25 = 1.04

@ 23 +24 =0.95833 - - -
® 76+ 75=1.0133---
@ 124 + 125 = 0.992
® 21 +20=1.05




20, oliA19] A Ul A12] L5 A 5 ) A1 eleel 21 076
AU ofmyel 717} 162.5em e o, oh A ] 7= @ em 1A
SRS

» & cm

[> el 185.25cm

(1he] 71) =162.5 x 0.76 =123.5(cm),
(OFH A1 9] 7]) =123.5 x 1.5 =185.25(cm)




